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, SECTION A : 10x2=20
Note :—(i) Answer ALL questions. :
: (@) Ea_ch question carries TWO marks. o

(@ii) ALL are very short answer type questions.
1. What is the discovery of C.V. Raman ?
~ The percentage error in the mass and speed are 2% and 3% respectively.
What is the maximum error in kinetic energy ? Calculate using these
quantities. |
B = —1?+ _—; What is the angle between the vector and x-axis ? .
4, A batsman hits back a ball straight in the direction of the bowler without
- changing its initial speed of 12 ms™. If the mass of the ball is 0.15 kg,
determine the impulse imparted to the ball. (Assume linear motion of tle
el . ' _ '
. 5. Give the expression for the excess pressure in an air bubble inside ihe
liquid. ‘ . :
6. What is angle of contact ?
7. State Wien’s displacément law.
8. Distinguish between heat and temperature.=
9. State Dalton’s law of partial pressure. :
10.- The absolute‘temperature of a gas is increased 3 times. What will be the.

increase in rms velocity of the gas molecule ?
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[2] : .
SECTIONB : : 6x4=24

Note :—(i) Answer ANY SIX questions.
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(ii) ~ Each question carries FOUR marks.
(tzi) ALL are short answer type questions.
A man walks on a straight road from his home to a market 2.5 km away '

~with a speed of 5 kmh-!. Finding the market closed, he 1nstantly turns

and walks back home with a speed of 7. 5 kmh-!. What is the magmtude,
of average velocity and average speed of the man over the time interval
0 to 50 min ? '

State Parallelogram law of vector. Derive an expressmn for the magmtude
and direction “of the resultant vector. -

State the laws of rolling friction.

Find the scalar and vector products of two vectors Z = (Sf -4j+ 5]3) and

- o I
b= (-2 +j - 3k). o _
Define the angular acceleration and torque Establlsh the relation between
angular acceleration and torque.
Stat;e Kepler’s laws of planetary motion. :
Describe the behaviour of a wire under gradually incre_asing load.
Explain conduction, convection and radiation with examples.’

| SECTION C : . 2x8216
—(i) ‘Answer ANY TWO questions. : g :

@) Each question carries EIGHT marks.

@) ALL are long answer type questions.
State and prove law of conservation of energy in case of a freely falling
body.
A pump is required to lift 600 kg of water per minute from a well of
25 m deep and to eject it with a speed of 50 msl. Calculate the power
required to' perform the above task.
Show that the motion of a simple pendulum is simple harmonic and hence
derive an equation for its time period. What is the length of a 31mple'
pendulum, which ticks seconds ?
State second law of thermodynamics How is heat engine dlﬁ'erent from
a refrigerator ? ; :
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'SECTION B : 6x4=24
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